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Time : 2 Hours] [Max. Marks : 50

SECTION-I

Attempt any two : 40
Mr. Dhavalbhai owns a travel bus, which runs 30 days in a month according to the
following schedule : 20
(i) Ahmedabad to Rajkot and back the same way :

One Side distance 200 km

Days run 10

Occupied seating capacity 80%
(i) Ahmedabad to Limbdi and back the same way :

One Side distance 100 km

Days run 10

Occupied seating capacity 80%
(ii1)) Ahmedabad Local :

Distance covered per day 120 km

Days run 10

Occupied seating capacity 100%
(iv) Other Information :

Cost of bus 3 60,00,000

Depreciation — annual 18%

Salary of driver — P.M. % 60,000

Salary of conductor — P.M. 330,000

Other administrative expenses — P.M. 3 1,20,000

Insurance premium — annual 6%

Road tax-annual < 7,20,000

Repair and maintenance — P.M. % 60,000

Diesel Consumption 18 k.m. per litre

Diesel Price per Litre <300

Lubricant Oil — P.M. < 30,000
(v) The bus has a capacity of 50 persons.

From the above information, calculate fare per passenger km, if he wants to earn

66% % profit on his taking.
Calculate the passenger fare for Ahmedabad to Rajkot and Ahmedabad to Limbdi.
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2.

The Ishanvi Co. Ltd. sold all production for ¥ 9,60,000 during the year 2021. The cost

per unit of the company was as under :

Particulars Cost Per Unit %)
Direct Materials 160
Direct Wages 120
Direct Expenses 40
Factory Overheads :
Fixed 16
Variable 24
Office Overheads (Fixed) 40
Sales Overheads :
Fixed 24
Variable 16
Total 440
Profit +40
Sales Price 480

Out of annual production capacity of the company, 80% of the production was done in

2021. The estimate for the year 2022 is as under :

(1) The production will be at its full production capacity (100%) of which 80% units

will be sold.

(2) There will be 20% increase in all variable expenses, while 25% increase in all

fixed expenses.

(3) The rate of profit on cost remain same as per last year.
From the above information, prepare a statement of total cost and estimated profit for

Considering the following information prepare reconciliation statement :

the year 2022.
3. Umiya Automobiles Co. provides following information for year 2021:
Profit as per Financial Accounting is ¥ 2,00,000
Profit as per Cost Accounting is ¥ 2,00,000
(1) Over absorption of administrative expenses in Cost Accounts
(2) Depreciation recorded in Cost Account
(3) Depreciation debited in Financial Account
(4) Under absorption of Factory expenses in Cost Account
(5) Interest on Investment
(6) Provision for Income Tax
(7) Loss on sale of plant
(8) Discount received recorded in Financial Accounts
(9) Debenture interest debited in Financial Accounts
AR-103 6
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4. (A) Kishori Construction Company signed a contract for Engineering College
Building on 01-04-2021, contract price is fixed at I 70,00,000. Details of the

(B)

AR-103

contract are as follows : 10
Particulars Actual Exp. From Estimated Exp. From
1.4.2021 to 31.3. 2022 1.4.2022 to 31.12.2022
Materials 12,00,000 22,00,000
Labour paid 8,00,000 10,00,000
Outstanding Labour 80,000 1,20,000
Plant Purchased 6,00,000 -
Expenses paid 3,00,000 6,00,000
Prepaid Expenses 60,000 —
Plant returned to stores 2,00,000 4,00,000
(at end and at cost)
Materials on hand 80,000 2,00,000
Work certified 32,00,000 70,00,000
Work uncertified 1,00,000 -
Cash Received 24,00,000 (Full)
Depreciation on plant is calculated at 20% by reducing balance method. It is
assumed that contract will be completed on 31.12.2022.
You have to prepare Contract Account, for year ending on 31.12.2022 and find
out estimated Profit.
The information given below has been taken from the costing records of an
engineering factory in respect of Job No. 999 : 10
Material : ¥ 80,000
Wages :
Dept. A : 100 hours at ¥ 10 per hour
Dept. B : 60 hours at ¥ 10 per hour
Dept. C : 40 hours at ¥ 10 per hour
Variable overheads estimated :
Dept. A: 10000 hours ¥ 50,000
Dept. B : 3000 hours ¥ 15,000
Dept. C : 5000 hours ¥ 25,000
Fixed overheads estimated T 2,40,000 for 10,000 normal hours.
You are required to ascertain the total cost of the Job No. 999.
7 P.T.O.



SECTION-II
5. Attempt any Five : 10
In the following sub-questions, more than one answer is given, of which only one
answer is correct. Select the correct answer :
(1) Operating Costing is not applicable to —

(a) Gujarat State Transport Co. (b) Hotel Marriot
(¢) Vadilal Sarabhai Hospital (d) Oil and Natural Gas Co.
(2) Which of the following is not fixed expense for operating costing ?
(a) Salary of the conductor (b) Office Rent
(c) Municipal Tax (d) Petrol
(3) Which of following is not included in operating industry ?
(a) Theatre (b) Railway (c) Hotel (d) Publication

(4) In a cost sheet, income tax and donations are included in which cost of the
following ?

(a) Factory overheads (b) Selling overheads
(¢) Administrative overheads (d) None of these
(5) Salary of drawing office will be included in —
(a) Labour overheads (b) Selling overheads
(c) Administrative overheads (d) Factory overheads
(6) Legal expenses are shown in cost sheet as —
(a) Factory expenses (b) Direct expenses
(c) Distribution expenses (d) Office expenses
(7) Expense not recorded in Financial Accounts —
(a) Office salary (b) Bank Interest
(c) Rent of own house (d) Commission

(8) Goodwill written off is recorded only in —
(a) Cost Accounts
(b) Financial Accounts and Cost Accounts both
(c) Financial Accounts
(d) None of these
(9) Amount recorded in Profit and Loss A/c. but not recorded in Cost Accounts —

(a) Office Expenses (b) Factory Expenses

(¢) Preliminary Expenses (d) Sales Expenses
(10) In pharmaceutical business which costing method is used ?

(a) Contract costing (b) Job costing

(c) Batch costing (d) Unit costing

(11) Cost plus contract means —
(a) Contract price fixed from beginning
(b) Contract cost increases automaticly
(¢) Contract expenses + increase some percent of profit
(d) No change in Contract cost
(12) Contract Costing is mostly used in —
(a) Job (b) Service (c) Construction (d) Batch
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